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4 oo # # SEREACLE (%) 4 G| &Rk EE (%) H YE i XA R L X LA B AT 7 b
[Bhsk ]
1.94
EOTATZ7 NV ENT =¥ (A — )
AHLENE 1. 4~3. Om
1.24
CEOREIr—F (#F - 22314 2 FR)
B E3~4t
0. 25
E>XAFu—F
B E3~4t
0.23
Z D (Fsk)
[#%]
15. 24
EWIEHER
5.18
FREREXER
3.55
EIRTF (FrER)
3. 54
AR — R
1.22
Z DO (F575)
[#1%}]
82. 82
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THEE B EATAEER 107 53R LEERR ¢ 150mmf /K & A st % T3

[ % 375 L \vr— ] (e =)
FKJE (HOE - BIHE) 1824 0 4 BJE60mn FA #7232 (20) 1 m2 %9

% 7 ) ¥ B REA AL () & & HERREE (%) FLUEMIX Bl FES XA BH A0 Al 2 5 ES e

BHAMBAT 27 7 )L MES
FAEERLE (20)
75. 33
7 A7 7 b LA (JISK2208)
7RV hELEI (BB ) PK-37 5 4 L= — A

i

X a— UG TR, 2~ AKLAE i B A T
0.27
Z oAt (B8

LR ]

[t
(2]
(A1]
LJe6]
[A3]

50. 000 mm =R sl oD =S [J1]
10 B FABERIEET A2 (20) [J4]
1 EHOAR 2ToOEH [A2]
1 TAIPVMEEWRREHIEE REEE2 L

SRS 1. 4mPl E3. omEL
TEE A PSR 7" 73—} PK-3
TAT VMRS /N BRI N BRI 72 L

Imnin
— W w
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THEE B EATAEER 107 53R LEERR ¢ 150mmf /K & A st % T3

[ % 45 T tvr— ]

g (BEE) 8% 0 4 EE30mm AR T A2y (13) 1 m2 40
4 mo- Hl s SEREACLE (%) 4 % TR L (%) 2k Y it X HA R L X LA B AT 7 P e
[Bhsk ]
2.81
TAT7 VN 4=y ¥y [ =771 ]
AHLENE 1. 4~3. Om
2.11
CEOREIr—F (#F - 22314 2 FR)
BE3~4t
0. 40
Z OAth, (FgHR)
[#%#]
21.93
EWIEHER
8.25
FRREHER
5. 65
EIRTF (FrER)
3.74
TR R
1.94
Z DAt (55%5)
[#1%}]
75. 26
HAMMT 27 7 v MEA
AR AR (13)
66. 64
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THEE B EATAEER 107 53R LEERR ¢ 150mmf /K & A st % T3

[ % 475 L yr— ] (e =)
FKE UHEED) 1820 A 1JZ30mm AL EET A3 (13) 1 m2 49
% 7 ) ¥ B REA AL () & & HERREE (%) FLUEMIX Bl FES XA BH A0 Al 2 5 ES e

7 A7 7 v LA (JISK2208)
TATTVMELAI (IRBM) PK-37"F 4 A=r— A

8. 28
L3
N b a LRI, 2~ AKLAS AR T
0.31
Z O B4
[ st ]
[ef]
[J2] = 30.000 mm U % 0 S kb L1 =3 MR 1 milE
(M1 = 18 Pk FHARIRLET 102 (13) LJa] = 3 MEFHIMAIR 7 710} P8
[J6] = 1 EHHAOWR £TOERNM [A2] = 1 TA77WMNREAR/NEEEIN R EER A L
[A3] =1 7a77VvMEAEMHEMEIE REEHEZR L
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THEE B EATAEER 107 53R LEERR ¢ 150mmf /K & A st % T3

[ % 55 T tvr— ]

FJE GRE) 1EY 0 LE40mm FARRIET A2 (13) 1 m2 %9
4 77/ N i) s AR L (%) 4 %A &Rk EE (%) 2k Y it X HA TR i X B B AT 7 e
[Bhsk ]
0.54
HREhe-7 (Eh2EA) [ h A R
JEARE 0. 5~0. 6t
0.37
IREhavn 28 [RiER ]
KSR B 40~60kg
0. 09
Z OAth, (FgHR)
[#%#]
51. 47
FREREHER
20. 31
EWIEHER
17.72
ARG
5.23
Z DAt (55%5)
[#1%}]
47.99
HAEMBT 27 7 MEA
FAEERIE (13)
41.94
7 A7 7 /L FELAI (JISK2208)
7RIV NELEI (B M) PR-37 54 s=— b
5.91
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THEE B EATAEER 107 53R LEERR ¢ 150mmf /K & A st % T3

[ % 55 T tvr— ] (Bt =)
FJE GRE) 1EY 0 LE40mm FARRIET A2 (13) 1 m2 40
4 77/ N i) s AR L (%) 4 %A &Rk EE (%) JH Y i [ B ffh TR i X B B A0 A 2 B H Ut

HIV o vF¥aT—
AL NEL, AZ 2 NG

0. 08
1B
N b a LRI, 2~ AKLAS AR T
0. 04
2 DA (B EE
[sadicRss]
[ef]
[J2] = 40.000 mm TERES 1) = 1 | PIOWER L awkis Pyt - E50mmEl T
[A1] = 11 #FBF FRABRIEET A2V (13) [J4] = TEE A PSR 7" 7/ha-} PK-3
[J6] =1  EHAOWR £TOERM [A2] = 1 TA77WMNREAR/NEEEIN R EER A L
[A3] =1 7a77VvMEAEMHEMEIE REEHEZR L
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HPPE ¢ 150mm F/KEE =R

TiE R ARETAE 107 58RO IS RRIAC K 8 AT s L5



B OE:

HPPE EckERRT HEHES

HPPE ¢ 150mm %R :L=552.970m

VLP ¢ 50mm_ FERIER :L=2.58m(HEKE)

ek M Y 0.70m~1.2m NO. 2
EHRA
T £ _# BRTZE Hg & #_Z
FEHH JKEEKE A EFZOMEE
FYIFLVE ¢ 150 X 5,000 X 96 9% X 5000 = 480.000
JKEEKE A F-VINEE
FYIFLVE ¢ 150 X 5,000 7 1] IEHMEREY = 47485 YIEH
I2504F L
EFF-2’ $150% P75 & 1 0500 X 1 = 0500
FYIFLVER L
EFFSZA"UN ¢ 150 x 45° 1& 9 0470 x 9 = 4230
FYIFLVER L
EFmZA UM ¢ 150%22 1/2° 1& 12 0380 x 12 = 4560
FYIFLVER L
EFFSZA"UN ¢150%x 11 1/4° 1& 1 0.340 x 1 = 0.340
FYIFLVER L
EFAZAUN ¢ 150 x 45° 1& 4 0625 x 4 = 2500
FYIFLVER L
EFAZAUN ¢ 150%22 1/2° 1& 4 0530 x 4 = 2120
FYIFLVER
EFYfryb ¢ 150 & 6
GF 7.5K L
PEHELAR ISV SHETES ¢ 150 & 1 0945 X 1 = 0945
L
K94 LHBERREERTKR) 150 & 2 0710 x 2 = 1420
PCTaA bk ¢ 150 & 1
PVIaAr bk ¢ 150 & 3
FYIFLVER L
PEJEL O ftY7by- ALY 5 ¢ 150 E-o 2 0975 x 2 = 1.950
kTR R ¢ 150 1& 2
Sch10S L
BEERAATULAMME | SUS304 150A = 1 6.920 X 1 =  6.920 JKEIBER
75K
TEESHZERSE ¢ 25 = 1 KEEE
75K
REERSF ¢ 25 = 1
FCD&! Linv—= NS E#ME GF 7.5K
K-V BEHER ¢ 75 X 150H = 1
¢ 75-7.5K
TSV THRFM GFRsn R49hSUS304-BN | #R 2
¢ 75-7.5K
ISV DHFH SUSK LMyt # | R 1
rORFE
tUHER%E JWWA B 110 " 2
L+ TF#BEE H=150
HEFALY VR IR JWWA K 148 e 2
JEEB (FIFZ) H=40
HEFALY VR IR JWWA K 148 e 2
ERFRAMKE JWWA B 132 & 1
ZEXRFHA LHEREE H=200
LY uik'yh R JWWA B 148 @ 1
ZEXRFHA e H=100
LY uik'yh R JWWA B 148 @ 1
ZERFHA TEREE H=200
LY uik'yh R JWWA B 148 @ 1
ZERFHA JEEB (FIRZ) H=40
LY uik'yh R JWWA K 148 @ 1
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HPPE EckERRT HEHES

EFE-O%: HPPE® 150mm FERIER :1=552.970m VLP ¢ 50mm FHERIER:L=258m(HEKE)
RSt + %Y 0.70m~1.2m NO. 2
B R
TiE £ _# 2 Hg 4 & B _Z
2504 L
EFF-2 G150 75 1& (D) 0.280 X 1 = 0.280
HKE
T+ (3LF2) @75 = 1 0.240 x 1 = 0240
MILA Hok
FCD A77Y $75x50 75K | ¥, 1
HKE
BIEEZLSA= Y RE ¢ 50 X 4000 Z 1 OEHHRLY = 2060 YIEH
274+ ok
eIV TN ¢ 50 & 2
HKE
vsTaq vk ¢ 50 & 1
FORFE ok
tUHR%E JWWA B 110 " 1
£ T#BEE H=150 Hok
HEFALY VR IR JWWA K 148 & 1
JEER (FIRZ) H=40 Hok
HOFALY VR IR JWWA K 148 & 1
Sus
BEERE HPPE®150 = 552970 L=6.92m&T
HKE
BEEER VLP®50 = 2580
¢ 150 ERER HYHF ELKATFE) KEBEH
BEBRRT-7 W=50 m 543.2 552970 — 1950 - 0945 - 6.920 = 543.155
¢ 50 ERER HkE
EHRT—7 W=50 m 26 2.580 = 2580
2B HERY-T ¢ 150/ m 553.0 = 552.970
TEHER HYHF ELKATFE) KEBEH
IRERAZ W=150 2f& 7LZAY| m 542.3 552120 — 1950 - 0945 - 6.920 = 542.305
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B OE:

HPPE EckERRT HEHES

HPPE ¢ 150mm %R :L=552.970m

VLP ¢ 50mm_ FERIER :L=2.58m(HEKE)

R EH %Y 070m~1.2m NO. 2
EHRA
TiE £ _# BRTZE Hg 4 & B £
FE [HFEfRT]
RhE HPPE HEI5ER SUSER
FYIFLUERTT ¢ 150 m 5441 552970 1950 - 6.920 = 544100 LI 12K
SHERT T ¢ 150 m 69 6920 = 6.920 | KEEE
BE 2
EFffF T ¢ 150 [m] 148 96 52 = 148
(2O#F) Vb F—X
EFftF T 150 Bl 7 6 1 = 7
ERHF
ISUTHFET $75 [m] 1 3 2 = 1
FYIFLVE PC PV
MZhVEF T $ 150 [m] 8 2 6 = 8
ORI
MZIVEF T $ 150 [m] 2
ERND
FYIFL BT ¢ 150 o 27 27 = 27
HKE
INORSEERGT ¢ 50 m 26/ 2580 = 2580
L HkE
NOERE T T ¢ 50 ] 3 = 3
Lty HOKE
NOEMERFT ¢ 50 O 6
RhUAHES ke
NOEZMERFT ¢ 50 O 4
TUHEZHET ¢ 75 = 1
TUHEZHET ¢ 150 = 2
EIRAFZET ¢ 25 = 2
rORFE
TUFAKEEAT JWWA B 110 Bl 2
tuHA L+ T#BEE H=150
LY UK YRR T JWWA K 148 & 2
tU#A JEEB (FIFZ) H=40
LY UK YRR T JWWA K 148 & 2
ERFRARESEAT JWWA B 132 Bl 1
ZERFHA LHEREE H=200
LY Uik v AR T JWWA B 148 & 1
ZERFHA e H=100
LY Uik v AR T JWWA B 148 & 1
ZERFHA TEREE H=200
LY Uik v AR T JWWA B 148 & 1
ZERFHA JEEB (FIRZ) H=40
LY Uiy AR T JWWA K 148 & 1
HHRRT-7 T ¢ 100 m 543.2
HHRRT-7 T ¢ 75 m 26
BBEHER)—THEL ¢ 150 m 553.0 552.970 = 552.970
FORRE HokE
TUFAKEEAT JWWA B 110 Bl 1
[am B2 L+ TFEREE H=150 K
LY UK YRR T JWWA K 148 & 1
tu#A JEER (M) H=40 HKE
LY UK YRR T JWWA K 148 & 1
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B OE:

HPPE ¢ 150mm %

HPPE EckERRT HEHES

EREER :L=552.970m

VLP ¢ 50mm_ FERIER :L=2.58m(HEKE)

s Y 070m~1.2m NO, 2
B R
I/ £ _# | Zwr LS | =
BRI W=150 2fF 7LIAY m 542.3
BKERERT BRER L m 553.0 552.970 = 552.970
18N-8-40BB
avy)—kT EHBEY- A | m3 074  (0.79%0.50- 7t /4X0.165"2% 1.11)X 2 = 074
aVHY—rEBT —HRRI EHEEY | m2 407 0.79 X 4+(0.50%0.50- 1 /4 X 0.165"2) X 4 = 407
ERERAL RC-30 t=10cm m2 1.59 1.135%0.70 X 2 = 159
[£T]
miEAs FEF IR
s Q)| $ 150 H=0.70m m 824 12.1 63.0 73 = 824 @ mREREME
HiEAs
+IT@-1 $ 150 H=0.70m m 9.2 8.4 0.8 = 92
HiEAs
)] $50 H=1.20m m 1.8 1.8 = 18
TESEAs FEIRS
I3 $ 150 H=0.70m m 5.0 5.0 50 | mmeEsEE
TE S EAs FEFEEE
+Id3-2 $ 150 H=0.76m m 125 125 = 125 | BREREkE
MBS EAs FRHEER 331 + 281 545 + 190 535  +
+I®-3 ¢ 150 H=1.20m m 391.6 511+ 265 211+ 872 175 = 391.6 |mmEmEE#HE
TESEAs FIRS
+I3-4 $ 150 H=1.40m m 5.0 25 + 25 50 | mmeEsEE
TE S EAs FEFEEE
+I®3-5 $ 150 H=1.50m m 4.8 4.8 = 48 @ mBRERERE
HIE(RAL) FEFEE
TIT@-1 ¢ 150 H=1.20m m 37.9 133 + 95 89 + 62 = 379 BRERsSEs
HiEAs
+I6-1 ¢ 150 H=1.20m m 6.7 6.7 = 67 | BREHE
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HPPE ¢ 150mm Y] & &

TE-E® [HPPE 0150 FR= 50 m/X HPPE =
No. | i EE 0nE RARE b BE [[No. | B B i
7V-vIvh
1 1,000 2.290 1.075 0.300 0.335 0.335
2 2.130 2.095 0.665 0.110 0.110
3 3.995 1.005 1.005
4 3.330 0.975 0.695 0.695
5 1.865 1.120 0.930 1.085 1.085
6 3.365 1.120 0.515 0.515
7 3715 0.665 0.620 0.620
8 4115 0.885 0.885
9 0.400 3.000 0.400 0.560 0.640 0.640
10 0.930 3.925 0.145 0.145
1 1.910 0.810 0.800 1.480 1.480
12
& W Rl 138
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
INE 26.755 m 20.730 m EUME 270 7515 m INEE RS
fi& =




VLP ¢ 50mm Y1 E &

sE-ER [ VIP 650 FTR= 40 m/K ER= m/ &

No. | B&#R BEE g RARKE B BEE uE

=
Rl
"
05
z
[e]

it

[~
=

7V-vIvh

0.300 1.160 0.600 1.940 1.940

0N s WwN =

g
Ul
=
%EI

INEE 0.300 m 1.760 m BBk 30 1.940 m INEE LR




No. 2 j -1 -1 -2 -1 @-2 ®-3
FKEFR “EE L SEE L SEE L SHEE L SEE L SHEE L SEE L
82.4 =fER L R L 92 =R L 1.8 =g L 50 =k L 125 =KL [391.6 =k L
£ # i % /Nt HEHE

AsTRERR )
SHELIMTT t=15cmA T m| 2.00 164. 80 2.00 18. 40 2.00 3.60 2.00 10. 00 2.00 25.00 2.00 783. 20 1005. 00

AsETHEERR )
SRR T [t=10cmiA T m2| 0.60 49. 44 0. 60 5.52 0. 60 1.08 0. 60 3.00 0. 60 1.50 0. 60 234. 96 301. 50

CofhZERR )
SR T t=15cmA T m

CofhZERR )
SERBEBI [t=15cmlLF m2

BHO. 28m3 )
HEARPRYE T MEL+ m3] 0.78 64. 27 0.50 4. 60 0.73 1.31 0.80 4.00 0.80 10. 00 0.81 317.20 401. 38

BHO. 28m3 ) ¢
HMIERT BAL m3] 0.50 41.20 0.20 1.84 0.15 0.27 0.50 2.50 0.46 5.75 0.21 82.24 133. 80

BHO. 28m3
HMIERT HEEL m3] 0.15 12. 36 0.15 1.38 0.45 0.81 0.20 1.00 0.23 2.88 0.50 195. 80 214.23

(RC-30) )
TrEEET t=10cm m2| 0.60 49. 44 0. 60 5.52 0. 60 1.08 0. 60 3.00 0. 60 1.50 0. 60 234. 96 301. 50

(RC-40) )
TrERET t=16cm m2

(RM-30) ) ¢
LERAET t=12cm m2| 0.60 49. 44 0. 60 5.52 0. 60 1.08 56. 04

BEZH As13mm NI
BRE{REIR t=3cm m2| 0.60 49. 44 0. 60 5.52 0. 60 1.08 0. 60 3.00 0. 60 1.50 0. 60 234. 96 301. 50
RN )
(£8) 4tDT m3]  0.61 50. 26 0.33 3.04 0.23 0.41 0.58 2.90 0.54 6.75 0.25 97.90 161. 26
R N ) ¢
(AS) 4tDT m3] 0.03 2.47 0.03 0.28 0.03 0.05 0.02 0.10 0.02 0.25 0.02 7.83 10.98
ZAE
A S t 0.07 5.71 0.07 0.64 0.07 0.13 0.05 0.25 0.05 0.63 0.05 19.58 27.00
RN )
(co) 4tDT m3
ZAE )
CcCOo#* t

EQE . ?ﬁf 2] )
BEEAXREAT HREIR =2 On m

EQE . ?ﬁf 2] )
BRECERNFR |KEXYK—F ZRIE |m




No. 2 -4 -5 @-1 -1
Bk E iR “EE L “EE L “EE L “EE L
5.0 SEE L 4.8 R L 37.9 SEE L 6.7 R L
E3 # R & /Nt &&t HEHE
As#&hiZEhR ( )¢ )
SEUIMT t=15cmLF m| 2.00 10. 00 2.00 9. 60 2.00 75. 80 2.00 13. 40 108. 80 1113. 80 1110
As#&hizErR
SRR T [t=10cmiA T m2] 0.90 4.50 0.90 4.32 0. 60 22.74 0. 60 4.02 35. 58 337.08 337
CofiZEhR
SR T t=15cmLF m
CofiZEhR
SHERRIEFET  |t=15cmLL T m2
BHO. 28m3
HEARPRYE T [E3= m3| 1.40 7.00 1.49 7.15 0.80 30. 32 0.77 5.16 49. 63 451.01 450
BHO. 28m3 NI NI
HMIERT BAL m3| 0.32 1.60 0.32 1.54 0.21 1.96 11.10 144. 90 140
BHO. 28m3
HMIERT FHET m3| 0.94 4.70 1.03 4.94 0. 46 17.43 0.64 4.29 31.36 245. 59 250
(RC-30)
TrEEET t=10cm m2| 0.90 4.50 0.90 4.32 0. 60 4.02 12. 84 314. 34 314
(RC-40) )¢ )¢
TrEEET t=16cm m2 0.60 22.74 22.74 22.74 23
(RM-30)
LERAET t=12cm m2 0. 60 4.02 4.02 60. 06 60
BEZH As13m MK NI
BRE{REIR t=3cm m2] 0.90 4.50 0.90 4.32 0. 60 22.74 0. 60 4.02 35. 58 337.08 337
BRIAsT
(£8) 4tDT m3] 0.36 1.80 0.35 1. 68 0.29 10.99 0.06 0.40 14.87 176.13 180
BRIAsT
(AS) 4tDT m3] 0.03 0.15 0.03 0.14 0.02 0.76 0.03 0.20 1.25 12.23 12
ZAE
AS#& t 0.07 0.35 0.07 0.34 0.05 1.90 0.07 0.47 3.06 30. 06 30. 1
BRIusT
(co) 4tDT m3
ZAE
COo% t
EQE - ﬁ&f 2]
BEEAXREAT BRETR =2 On m 1.00 5.00 1.00 4.80 9.80 9.80 9.8
EQE - ﬁ&f 2]
BESENUIR |KERXHH—F ZEIE (M 1.00 5.00 1.00 4.80 9.80 9.80 9.8




Wrigiik 5 = HPPE ¢ 150 L= 82.40 = 82.40
gt By = 4= 1.(D-1 ifiiBAs
B = 0170 X 0170 X x / = 0,023
R = 0180 X 0.180 X / = 0.025
Im24

% i B A LA =
ARG
ASBFTLER t =15cmIL T 1.00 X 2 = m 2.00
BRI T
AsEGTEER t=10cmd 1.00 X 0.60 = m2 0.60
S/
- E A FEE A 1.00 X 0.60 X 1.32 — 0.023 m3 0.78
PR
SN EA - 1.00 X 0.60 X 0.87 — 0.025 m3 0.50
PR
SN A - 1.00 X 0.60 X 0.25 m3 0.15
FE AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
_L/E AR T (RM=30)
t=12cm 1.00 X 0.60 = m2 0.60
AR (B (AR As13mm, A JJ)
t=3cm 1.00 X 0.60 = m2 0.60
LA T EHI+ WAL
FEAL LW 0.78 —( 0.15 = 0.90 )= m3 0.61
FEL T
FEARS TRT7IbEE 1.00 X 0.60 X 0.06 = m3 0.03
ZAZ
TA77 /b 0.03 X 235 = ¢ 0.07




W ks = HPPE 150 L= 9.20 = 920 m
g #y = 1= 1.2-1 ifiiBAs
B = 0180 X 0180 X x / = 0.025
2 BB X X / = 0.000
Im24

% 7 & i LA =
ARG
ASBFTLER t =15cmIL T 1.00 X 2 = m 2.00
BRI T
AsEGTEER t=10cmd 1.00 X 0.60 = m2 0.60
V30N
- E A FEE A 1.00 X 0.60 X 0.83 = m3 0.50
PR
SN EA - 1.00 X 0.60 X 0.38 — 0.025 = m3 0.20
PR
SN A - 1.00 X 0.60 X 0.25 = m3 0.15
FEREHE T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
_L/E AR T (RM=30)
t=12cm 1.00 X 0.60 = m2 0.60
AR (B (AR As13mm, A JJ)
t=3cm 1.00 X 0.60 = m2 0.60
LA T EHI+ WAL
FEAL LW 0.50 —( 0.15 = 0.90 )= m3 0.33
FEL T
FEAZ TRT7 WP 1.00 X 0.60 X 0.06 = m3 0.03
ZAZ
TA77 /b 0.03 X 235 = ¢ 0.07




W ks = HPPE 50 L= 1.80 - 180 m
g #y = 1 1.2-2 ifii#As
BEREEE = 0060 X 0060 X x / = 0,003
2 BB X X / = 0.000
Im24

% 7 & i LA =
BFECI T
ASBFTLER t =15cmIL T 1.00 X 2 = m 2.00
BRI T
AsEGTEER t=10cmd 1.00 X 0.60 = m2 0.60
V30N
- E A FEE A 1.00 X 0.60 X 1.21 = m3 0.73
PR
SN EA - 1.00 X 0.60 X 0.26 — 0.003 = m3 0.15
PR
SN A - 1.00 X 0.60 X 0.75 = m3 0.45
FEREHE T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
_L/E AR T (RM=30)
t=12cm 1.00 X 0.60 = m2 0.60
AR (B (AR As13mm, A JJ)
t=3cm 1.00 X 0.60 = m2 0.60
LA T EHI+ WAL
FEAL LW 0.73 —( 0.45 =+ 0.90 )= m3 0.23
FEL T
FEAZ TRT7 WP 1.00 X 0.60 X 0.06 = m3 0.03
ZAZ
TA77 /b 0.03 X 235 = ¢ 0.07




W& s = HPPE ¢ 150 L= 5.00 = 500 m
a4 Fr = 1 L@-1 A As
BEREEE = 0170 X 0170 X =z / = 0.023
R = 0180 X 0.180 X / = 0.025
Im?2%9

% B 7 & i LA =
AR T
ASBFTLER t =15cmIL T 1.00 X 2 = m 2.00
BRI T
AsEGTEER t=10cmd 1.00 X 0.60 = m2 0.60
/SR
B BT 1.00 X 0.60 X 1.34 = m3 0.80
T
LD JEA L 1.00 X 0.60 X 0.87 — 0.023 = m3 0.50
T
LN A 1.00 X 0.60 X 0.37 — 0.025 = m3 0.20
FEREHE T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
RS (I (AR R As13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FETAT T mRI T AT
FiAS 0.80 —( 0.20 + 0.90 )= m3 0.58
T T
RS TAI b 1.00 X 0.60 X 0.03 = m3 0.02
HAE
TAZ7 NP 0.02 X 2.35 = ¢ 0.05




Wrigiik 5 = HPPE ¢ 150 L= 391.60 = 39.60 m
g5y = A 1.3)-3 FEFREAs
EHEEE = 0170 X 0170 X _x / = 0.023
EHEEE = 0180 X  0.180 X / = 0.025
Im24

% i B A LA =
AT L
ASETHEIR t=15cmEL T 1.00 X 2 = m 2.00
BRI L
ASBFLER ¢t =10cmidL T 1.00 X 0.60 = m2 0.60
S/ A
B A BEE A 1.00 X 0.60 X 1.35 = m3 0.81
PR
S NG SEA - 1.00 X 0.60 X 0.38 — 0.023 = m3 0.21
PR
SN FEAE A 1.00 X 0.60 X 0.87 — 0.025 = m3 0.50
FE AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
AR (B (AR As13mm, A JJ)
t=3cm 1.00 X 0.60 = m2 0.60
FELA T e+ WAL
HAA 142 0.81 —( 0.50 =+ 0.90 )= m3 0.25
T T
FHAS TR/ 1.00 X 0.60 X 0.03 = m3 0.02
X
TAT77 /bR 0.02 X 235 = t 0.05




Wrigiik 5 = HPPE ¢ 150 L= 12.50 = 1250 m
Wrgr £ 7 = A L(3-2 fiEAaEAs
EHEEE = 0170 X 0170 X _x / = 0.023
EHEEE = 0180 X  0.180 X / = 0.025
Im24

% i B A LA =
AL T
ASBFTLER t =15cmIL T 1.00 X 2 = m 2.00
B AR T
AsEGTEER t=10cmd 1.00 X 0.60 = m2 0.60
S/
WP E A EE A 1.00 X 0.60 X 1.34 = m3 0.80
PR
LN A - 1.00 X 0.60 X 0.81 — 0.023 = m3 0.46
PR
LN FEAE A 1.00 X 0.60 X 0.43 — 0.025 = m3 0.23
FE AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
AR (B (AR As13mm, A JJ)
t=3cm 1.00 X 0.60 = m2 0.60
FEL AT e+ WAL
RS L5 0.80 —( 0.23 = 0.90 )= m3 0.54
FEL T
FEARS TRT7IbEE 1.00 X 0.60 X 0.03 = m3 0.02
RAE
VSl 0.02 X 235 = ¢ 0.05




Brigrd 5 = HPPE ¢ 150 L=_5.00 = 500 m

WG4 E = A4 1T@—-4 fEHEAs

BEREEE = 0170 X 0170 X =z / = 0,023
R = 0180 X 0.180 X / = 0.025
Im24

% 7 & i LA =
237l 7N
ASBFTLER t =15cmIL T 1.00 X 2 = m 2.00
BULEIS AR T
AsEGTEER t=10cmd 1.00 X 0.90 = m2 0.90
/SR
VR W 1.000 X 0.90 X 1.55 = m3 1.40
R
LG JHEA A 1.000 X 0.90 X 0.38 — 0.023 = m3 0.32
R
LG T A 1.000 X 0.90 X 1.07 — 0.025 = m3 0.94
FEREHE T (RC-30)
t=10cm 1.000 X 0.90 = m2 0.90
RS (I (AR R As13mm, A 7))
t=3cm 1.000 X 0.90 = m2 0.90
FEL A5 T EHI+ WAL
FrASL 440 1.40 —( 0.94 =+ 0.90 )= m3 0.36
FEL T
FrAL TRT bk 1.000 X 0.90 X 0.03 = m3 0.03
TR
TAT7 bR 0.03 X 235 = ¢ 0.07
BRI RA AT
R L A N7 [=2.0m 1.00 X 1 AT fm 1.00
BE 40 JT RS R i - U T
IKIEZCT N — P R EF B 1.00 X 1 A7 fm 1.00




Brigrd 5 = HPPE ¢ 150 L= 4.50 = 480 m

Brigi5 Bl = 1 1.3)-5 ifrbFEAs

BEREEE = 0170 X 0170 X =z / = 0,023
R = 0180 X 0.180 X / = 0.025
Im24

% 7 & i LA =
237l 7N
ASBFTLER t =15cmIL T 1.00 X 2 = m 2.00
BULEIS AR T
AsEGTEER t=10cmd 1.00 X 0.90 = m2 0.90
/SR
VR W 1.000 X 0.90 X 1.65 = m3 1.49
R
LG JHEA A 1.000 X 0.90 X 0.38 — 0.023 = m3 0.32
R
LG T A 1.000 X 0.90 X 1.17 — 0.025 = m3 1.03
FEREHE T (RC-30)
t=10cm 1.000 X 0.90 = m2 0.90
RS (I (AR R As13mm, A 7))
t=3cm 1.000 X 0.90 = m2 0.90
FEL A5 T EHI+ WAL
FrASL 440 1.49 —( 1.03 =+ 0.90 )= m3 0.35
FEL T
FrAL TRT bk 1.000 X 0.90 X 0.03 = m3 0.03
TR
TAT7 bR 0.03 X 235 = ¢ 0.07
BRI RA AT
R L A N7 [=2.0m 1.00 X 1 AT fm 1.00
BE 40 JT RS R i - U T
IKIEZCT N — P R EF B 1.00 X 1 A7 fm 1.00




Wrigiik 5 = HPPE ¢ 150 L= 37.90 = 37.90 m
Brigi5 B = 1 T@-1 7rdEAsCEAZS)
B = 0170 X 0170 X x / = 0,023
EREEE = 0180 X 0180 X x / = 0.025
Im24

% i B A LA =
BFECI T
ASBFTLER t =15cmIL T 1.00 X 2 = m 2.00
BRI T
ASBFLER ¢t =10cmidL T 1.00 X 0.60 = m2 0.60
V30N
- E A FEE A 1.00 X 0.60 X 1.34 = m3 0.80
PR
SN EA - 1.00 X 0.60 X 0.38 — 0.023 = m3 0.21
PR
SN A - 1.00 X 0.60 X 0.81 — 0.025 = m3 0.46
FIEREHE T (RC-40)
t=16cm 1.00 X 0.60 = m2 0.60
AR (B (AR As13mm, A JJ)
t=3cm 1.00 X 0.60 = m2 0.60
LA T EHI+ WAL
FEAL LW 0.80 —( 0.46 = 0.90 )= m3 0.29
FEL T
FEAZ TRT7 WP 1.00 X 0.60 X 0.04 = m3 0.02
ZAZ
TA77 /b 0.02 X 235 = ¢ 0.05




W ks = DIP ¢ 150 L= 6.70 - 670 m
g By = 4= 1.(5)-1 ifriBAs
B = 0170 X 0170 X x / = 0,023
2 BB X X / = 0.000
Im24

% 7 & i LA =
ARG
ASBFTLER t =15cmIL T 1.00 X 2 = m 2.00
BRI T
AsEGTEER t=10cmd 1.00 X 0.60 = m2 0.60
S/
B A BEE A 1.00 X 0.60 X 1.32 — 0.023 m3 0.77
PR
SN FEAE A 1.00 X 0.60 X 1.07 m3 0.64
FEREHE T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
_L/E AR T (RM=30)
t=12cm 1.00 X 0.60 = m2 0.60
AR (B (AR As13mm, A JJ)
t=3cm 1.00 X 0.60 = m2 0.60
LA T EHI+ WAL
HAA 142 0.77 —( 0.64 +— 0.90 )= m3 0.06
FEL T
FHAS TR/ 1.00 X 0.60 X 0.05 = m3 0.03
ZAZ
TAT77 /bR 0.03 X 235 = t 0.07




FEEXDIP ¢ 150mm * VP150mm
BlKE B #EFE

TE I RET AL 107 58 A0 LSRR AL K & A s TR



BXE2DIP ¢ 150mm,VP ¢ 150mmiic KERELLT HEFES

mer gt - HinsskYTHY :1.20m NO. 5
B R
T £ # FERTZE Hiy % & w =
FHE [BHT]
BEE% BRER
HBHERET ¢ 150 m 217.3 21000 + 7.3 = 217.300
BEE IvY Uhyh— BEE%
HBHERET ¢ 150 ] 36 21730 =+ 6 = 36
BEE BEER
BESHET ¢ 150 m 340.0 340.00 = 340.000
BEE% IvY Uhyh— BEE%
BEEHET ® 150 ] 56 34000 + 6 = 56
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é 150 X ¢ 50~ ¢ 20
KB B EFR
AAE HPPE ¢ 150

TE I RET AL 107 58 A0 LSRR AL K & A s TR



fKEMRT HEFES

¢ 150mm X PE ¢ 40mm 187

@ 150mm X PE ¢ 25mm 3% FT ¢ 150mm X PE ¢ 20mm_6&iFT

R Y 0.6m NO. 4
E R
T £ FERTZ By % & H =
H#
KUIFLYE (RS
FM A5 KR @150 X ¢ 50 = 2 2
K UIFLYE (B E)
YAt KEE @150 X ¢ 40 #® 1 1
KUIFLYE (B E)
YAt KEE @150 x ¢ 25 = 3 3
KUIFLYE (B E)
FM A5 KR @150 X ¢ 20 = 6 6
@50 $40
TUFAESE A 15 (FA5R) " 3 2 1
SREEH: H=100
HEUIFAVY VE IR & 3
L+ TEREE H=150
HEUFALY VR YA JWWA K 148 & 3
JEER (FfZ) H=40
HEUFALY VR YR JWWA K 148 & 3
®20 @25
1EJKRRR IR FCD =R #E! & 7 4 3 7
LEJKRRR IR T-25 & 2
FE [ERT]
fIFLVER
DIKEETAAT ¢ 150 X ¢ 50 & 2
FIFLVER
DIKEETAAT ¢ 150 X ¢ 40 & 1
FIFLVER
DIKEETAAT ¢ 150 % ¢ 25 & 3
fIFLVER
DIKEETAAT ¢ 150 % ¢ 20 & 6
ML TRERFH
HRKEERT PEP ¢ 50 & 2 46 1.6 3.1m
MIH FRERTLY
HRKEERT PEP ¢ 40 E:lzil 1 5.3 5.3m
MIH AREETLY
HRKEERT PEP ¢ 25 & 3 54 16 + 16 2.9m
MIH FRERTLY
FRKEERT PEP ¢ 20 &3 6 36 13 + 13 + 43 + 43 85 3.9m
[£T])
PE@®30LLTF
T+ IT@-1 HEAs H=0.60m | m 15.0
PE ¢ 40
TI@-2 HEAs H=0.60m | m 5.0
PE ¢ 50
+I@-3 HEAs H=0.60m | m
PE@®30LLTF
+IT@-1 H=0.60m m 13.0
PE ¢ 40
+1T®@-2 H=0.60m m
PE ¢ 50
+1®@-3 H=0.60m m 5
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No. 6 j j ®-1 #AKE ®-2 #AKE ®-3 #AKE @-1 #AKE @-2 #AKE @-3 #AKE
ARIEKEFR SEE L =EE L =EE L =EE L =EE L =EE L
15.0 sER L 5.0 sER L =fER L 13.0 sER L =fER L 5.0 sER L
£ i i 1 E BHE ¢
AsERZERR )
UM T t=15cmA T m| 2.00 30. 00 2.00 10. 00 2.00 26. 00 2.00 10. 00 76. 00 76
AsthizE )
SHERRIEFRT |t=10cmA T m2| 0.60 9.00 0. 60 3.00 0. 60 7.80 0. 60 3.00 22. 80 23
BHO. 13m3 )
HEMERYE T MEt m3| 0.35 5.25 0.36 1.80 0.36 4. 68 0.38 1.90 13. 63 10
BHO. 13m3 )
HHIERT BEAL m3| 0.14 2.10 0.15 0.75 0.14 1.82 0.16 0. 80 5.47 10
BHO. 13m3 )
HHIERT HEL m3| 0.09 1.35 0.09 0.45 0.16 2.08 0.16 0.80 4. 68 5
(RC-30) )
TRERET t=10cm m2| 0.60 9.00 0. 60 3.00 0. 60 7.80 0. 60 3.00 22. 80 23
(RM-30) )
LERET t=12cm m2| 0.60 9.00 0. 60 3.00 12. 00 12
BAEFH As13mm )
ERE{REIR t=3cm m2| 0.60 9.00 0. 60 3.00 0. 60 7.80 0. 60 3.00 22. 80 23
BimsT )
(8 2tDT m3| 0.25 3.75 0.26 1.30 0.18 2.34 0.20 1.00 8.39 10
BimsT )
(AS) 2tDT m3| 0.03 0.45 0.03 0.15 0.02 0. 26 0.02 0.10 0. 96 1
ZAE )
A S t 0.07 1.05 0.07 0.35 0.05 0. 65 0.05 0.25 2.30 2.3




Brigi#Es = PE FKE ¢ 30LLF L= 15.0

Wit = £ 1@d-1

B = 0030 X 0030 X x /[ = 0.001
EEE = X X z / = 0.000
Im249

% 7 H = o & =
LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsEHEIR t=10cmbl F 1.00 X 0.60 = m2 0.60
LT, BHO.13m3
WA BEET L 1.00 X 0.60 X( 0.63 — 0.05 )= m3 0.35
HEET BHO.13m3
S NFEIESD AL 1.00 X 0.60 X 0.23 — 0.001 = m3 0.14
HEET BHO.13m3
S NFRIES A 1.00 X 0.60 X 0.15 = m3 0.09
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FETA I 2(DT B von L
FEAG 1 0.35 —( 0.09 = 0.90 )= m3 0.25
FETH I 2(DT
FEARS TAT7 1.00 X 0.60 X 0.05 = m3 0.03
T AE

TAT 7N 0.03 X 235 = ¢ 0.07




W5 = PE #KE 440 L= 5.0
gt = +£1@

B = 0030 X 0030 X x /[ = 0.001
EEE = X X z / = 0.000
Im249

% 7 H = o & =
LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsEHEIR t=10cmbl F 1.00 X 0.60 = m2 0.60
LT, BHO.13m3
WA BEET L 1.00 X 0.60 X( 0.65 — 0.05 )= m3 0.36
HEET BHO.13m3
S NFEIESD AL 1.00 X 0.60 X 0.25 — 0.001 = m3 0.15
HEET BHO.13m3
S NFRIES A 1.00 X 0.60 X 0.15 = m3 0.09
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FETA I 2(DT B von L
FEAG 1 0.36 —( 0.09 = 0.90 )= m3 0.26
FETH I 2(DT
FEARS TAT7 1.00 X 0.60 X 0.05 = m3 0.03
T AE

TAT 7N 0.03 X 235 = ¢ 0.07




WG e = PE FKE ¢ 30LLF L= 13.0
Bras e = 1O

B = 0030 X 0030 X x /[ = 0.001
AR = X X z / = 0.000
Im2%0

% B 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
DR AT T
AsEFIERR t=10cmbl 1.00 X 0.60 = m2 0.60
i T, BHO.13m3
B E A B 1.00 X 0.60 X( 0.63 — 0.03 )= m3 0.36
HIET. BHO.13m3
K NFEIE D HEA - 1.00 X 0.60 X 0.23 — 0.001 = m3 0.14
HIET. BHO.13m3
K NFEIED TS A 1.00 X 0.60 X 0.27 = m3 0.16
FE AR T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-50)
t=12cm
PR 1H (A # R As13mm, A7)
t=3cm 1.00 X 0.60 = m2 0.60
FEL T 2tDT malt+  WHEt
JEAZL 1% 0.36 —( 0.16 = 0.90 )= m3 0.18
FEL A T 2tDT
FERS TAT7 W 1.00 X 0.60 X 0.03 = m3 0.02
ZAE

TAT 7N 0.02 X 2.35 = ¢ 0.05




W5 = PE _#KE  ¢50 L= 5.0
gt = +£1Q

B = 0030 X 0030 X x /[ = 0.001
AR = X X z / = 0.000
Im2%0

% B 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
DR AT T
AsEFIERR t=10cmbl 1.00 X 0.60 = m2 0.60
i T, BHO.13m3
B E A B 1.00 X 0.60 X( 0.66 — 0.03 )= m3 0.38
HIET. BHO.13m3
K NFEIE D HEA - 1.00 X 0.60 X 0.26 — 0.001 = m3 0.16
HIET. BHO.13m3
K NFEIED TS A 1.00 X 0.60 X 0.27 = m3 0.16
FE AR T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-50)
t=12cm
PR 1H (A # R As13mm, A7)
t=3cm 1.00 X 0.60 = m2 0.60
FEL T 2tDT malt+  WHEt
JEAZL 1% 0.38 —( 0.16 = 0.90 )= m3 0.20
FEL A T 2tDT
FERS TAT7 W 1.00 X 0.60 X 0.03 = m3 0.02
ZAE

TAT 7N 0.02 X 2.35 = ¢ 0.05




%% SUS ¢ 150mm  Fh 3%

TiE R ARETAE 107 58RO IS RRIAC K 8 AT s L5



REEHERT HEHES
SUS50A(1)—R) FiskiER:L=5.210m

R EE T EH <080m NO. 1
B R
TiE £ _# BT % H % & g%
#H# [)—X#1]
SUSEE 150A % 4.000 X 121 4.000 121 = 484.000
SUSEE 150A x 2.000 X 17 2.000 17 = 34.000
SUSEE 150A % 1.000 X 11 1.000 11 = 11.000
SUSEE 150A x 500 X 8 0.500 8 = 4.000
SUSEE 150A x 300 X 3 0.300 3 = 0.900
SUSTL+& 150A Z: 14 1.600 14 = 22400
SUSF—X 150A X 150A & 1 0.523 1 = 0523
SUSF—X 150A X 50A & 3 0.378 3 = 1134
SUST /LR 150A X 90° & 32 0.550 32 = 17.600
susIsUY 150A & 2 0.210 2 = 0420
SUSERHILIEE 150A X 25A & 3 0.202 3 = 0.606
SUSERHILIEE 150A X 20A & 7 0.202 7 = 1414
Rl x RIf
SUSHHR & 150A & 1 0.016 1 = 0016
BERAEE 150A & 2 0.302 2 = 0604
RILFTaAob 150A & 1 0.147 1 = 0.147
INBTZANLT 150A = 1 0.387 1 = 0387
8B M GF 75K L
THIKTFE(VE) ¢ 150 X ¢ 150 = 2 0.420 2 = 0840
IIVTE ¢ 150 >4 2 2 =
R—jLsS)LJ 50A P 2 0.210 2 = 0420 #Kk51TD4
SUST /LR 50A X 90° @ 4 0.205 4 = 0820 ﬁ%zk&»fj’?}_i
TJL—rIUR 50A & 2 0.300 2 = 0.600 #aks1FD-4
SUSEE 50A X 1.000 X 2 1.000 2 = 2.000) #ka1TD-4
SUSEE 50A X 300 & 2 0.300 2 = 0.600 #ka17D-4
R—jLsS)LJ 50A P 1 0.210 1 = 0210 #Kk517D-3
b 5%
SUSHRIEE S x40 & 1 0.150 1 = 0.150 #Kk517D-3
¢ 150
ISV HFM GF 7.5K #H 2
{RE&/\JLTBOX )—Z #H 5
REEE 150A = 579.991
REEE 50A = 4800
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- O1%: SUS150A()—2R)

IREREMRT HESHES
SRR 1=580.0m

SUS50A(1)—R) FiskiER:L=5.210m

TR U Bl ~080m NO.
EHRA
I z_7 BRTE  E uE A
FE [#EtT]
REEERTT 150A m 580.0 579.991 = 579.991
JaAUMMEFT 150A [m] 230 230 = 230
7.5K I5UVE
TSUTHMET ¢ 150 [m] 4 2+ 2 = 4
IRHLEERET 150A Eliid 10 10 = 10
REERET 150A m 580.0
DaqAUMEFESNLT 150A o 230
IZUCHFRILT 150A o 2
RHLEERET 150A Bl 10
HER
THKERT $150% ¢p150 | EEFRF 2
REEERTT 50A m 48 4.800 = 4800
JaAUMMEFT 50A [m] 11 11 = 11
RUAAHBFTL ¢ 40 [m] 1 1 = 1
REERET 50A m 48
TaqAUMEFESNLT 50A o 11
RUAABFERSLT 40 [m] 1
BKEHEBRT BRES & HE m 580.0 579.99
[£T]
(RER B ELRF)
HiEAs
T IA1 ¢ 150 H=0.30m m 25.7 1780 + 790 = 2570
MBS EAs 220 + 1370 + 1830 + 990
t+IB-1 ¢ 150 H=0.30m m 61.9 560 + 660 + 560 = 61.90
HiEAs
TI®-1 Tk SR | ERT 1
HiEAs
+I®-2 Tk SR | @RT 1
(REEERER)
HiEAs
+TIA-3 ¢ 150 H=0.30m m 25.7 = 2570
MBS EAs
t+IB-4 ¢ 150 H=0.30m m 61.9 = 61.90
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No. 2 A1 B-1 ®-1 ©-2 A3 B4
RRIAE R “EE L =EE L =EE L =EE L
25.7 “ERE L 61.9 “EE L 1 [l 1 [l 25.17 “EE L 61.9 “ERE L

% [ iR [ &t BRETHE
AsEiZE ki

BEVIMT  [t=15mU T m| 2.00 51.40 1.00 61.90 6.94 6.94 6.94 6.94 2.00 51.40 1.00 61.90 240. 48 240
AsEhZE ki

SERRHET  |[t=10cm T m2|  0.60 15. 42 0. 60 37.14 2.47 2.47 2.47 2.47 0. 60 15. 42 0. 60 37.14 110. 06 110
CofhZE b

SHETIME T t=15cmLLF m
CofhZE bR

SRR T [t=15cmLLF m2
BHO. 28m3

BEEKET  |MEt m3|  0.25 6.43 0.26 16. 09 2.89 2.89 3.14 3.14 0.24 6.17 0.24 14. 86 49.58 50
BHO. 28m3

BEIEET  |BAL m3 1.63 1.63 1.63 1.63 3.26 3
BHO. 28m3

BHRIEET  |f£t m3| 0.18 4.63 0.18 11.14 0.62 0.62 0.86 0.86 0.13 3.34 0.20 12.38 32.97 30
(RC-30)

TE®BBT  [=10cm m2|  0.60 15. 42 0. 60 37.14 2.47 2.47 2.47 2.47 0. 60 15. 42 0. 60 37.14 110. 06 110
(RM-30)

EE®ET  |=12em m2 2.47 2.47 2.47 2.47 0. 60 15. 42 20. 36 20
BEZHAs13mn

BEREIE  [t=3cm m2|  0.60 15. 42 0. 60 37.14 2.47 2.47 2.47 2.47 0. 60 15. 42 0. 60 37.14 110. 06 110

EitunT

(15) 40T m3|  0.05 1.29 0.06 3.71 2.20 2.20 2.18 2.18 0.10 2.57 0.02 1.24 13.19 10

BitunT

(AS) 40T m3|  0.03 0.77 0.02 1.24 0.12 0.12 0.12 0.12 0.02 0.51 0.02 1.24 4.00 4

ZAE

AS# t| 0.07 1.80 0.05 3.10 0.28 0.28 0.28 0.28 0.05 1.29 0.05 3.10 9.85 9.9

EitunT

(co) 4tDT m3

ZAE

CO®




g5 = SUS #1150 L= 25.70 = 2570 m
Brigib = L TA-I

R = 0170 X 0170 X 1 / = 0.023
AR = X X z / = 0.000
Im240
% B 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsEHRER t=10cmL{ T 1.00 X 0.60 = m2 0.60 A
S/ -
- B+ - BEET - 1.00 X 0.60 X 0.42 = m3 0.25
(TS Pt )
IO . A . FEAIE .
T
LN A 1.00 X 0.60 X 0.34 — 0.023 = m3 0.18 T
TR T (RC-30) N
t=10cm 1.00 X 0.60 = m2 0.60
B 1 0 1H (P B R A 3mm, ) LE S P S
t=3cm 1.00 X 0.60 = m2 0.60 ; e - B
TET AT I BEHT  oH - u _}
L% L 0.25 —( 0.18 =+ 0.90 )= m3 0.05
FEA AT . ’
BLAZ TR77nhite 1.00 < 0.60 x 0.05 = m3 | 0.03 e e e T e
EA}L% .\; ¥ ddOpTF| o fibo I RETH LT 2 i

TAT 7N 0.03 X 235 = ¢ 0.07




i SUS ¢ 150 L= 61.90 = 6190 m
B = £ TB-1
R = 0170 X 0170 X 1 / = 0.023
AR = X X ) = 0.000
Im2%0

% B 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 1 = m 1.00
DR AT T
AsEFIER t=10cmId T 1.00 X 0.60 = m2 0.60 B S
S/
B E A B A 1.00 X 0.60 X 0.44 m3 0.26

VR
- E R e

HEE T
LN FEE A 1.00 X 0.60 X 0.34 — 0.023 m3 0.18 he tdon ! EEAETIC
TE%&I(RC—B&) ] S UEEIRRT A
t=10cm 1.00 X 0.60 = mZ2 0.60 P =
W R IH (B R As L3, ) J)) S P I
t=3cm 1.00 X 0.60 = m2 0.60 . i
TR T WAL 5oL - —
HEAA - 0.26 —( 0.18 = 0.90 )= m3 0.06
BT T ,
FERS TAT7 W 1.00 X 0.60 X 0.03 = m3 0.02 N ‘:f‘“* T B
i‘j’ﬂﬁ \; @8 [ &0 300 30 pEl] .-JLs;-
T AT /bl 0.02 X 235 = { 0.05 B 3 | sdoT @ | s 4 0 P




g5 = T @ 150 177
s = 4 T0-1
ERE = 0170 X 0170 X «x = 0.023
EEE = X X = 0.000
1B 0
% B 7 H = H o & & g =
BRIECI 1
ASEHEIR t=15cmblL F 1.00 X 2 247 X 2 m 6.94
LR T
AsEELEIR t=10cmEl T 1.00 X 2.47 m2 2.47
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